Tsxkénas aTiieruka

koMruiekT mrtaHr «kELEIKO» (2400 T) copeBHOBaTenbubie - 3 * 250 =750 T.p.
mranretkd - 30 map * 3000 p. =90 T.p.

TspKenoaTierndeckuii mosic (NeNe 1,2) -3 * 700 = 2,1 T.p.

./ komOuHe3oH - 20 * 3500 =70 T.p.

TEHHUCHBIA cTON = 15 T.p.

MTOMOCT TSDKEJIOATJICTUUECKHi (CopeBHOBATENbHBIN 4 * 4) = 250 T.p.

TpeHaxep (ynpaxuenus ajis Hor) = 100 T.p.

JIbI’)KHbIE TOHKH

JILDKHA TOHOYHBIE (KOHBKOBBIE) — 15 T.p. * 10 map = 150 T1.p.
OOTUHKH JBIXKHBIE (KOHBKOBBIE) — 9,5 T.p. * 10 map = 95 1.p.
OOTHUHKH JIBDKHBIE (KOHBKOBBIE) — 3,5 T.p. * 10 map = 35 T.p.

TMAJIKH JIBDKHBIE (KOHBKOBEIE) — 4 T.p. * 8 map = 32 T.p.

KpeTUICHUS JIbDKHBIE TOHOYHBIC (KOHBKOBBIC) — 2,2 T.p. * 5 =11 T.p.
JBDKU TOHOUYHBIE (KIaccuueckue) — 15 T.p. * 5 map = 75 1.p.
OOTHHKH JIBDKHBIC (Ki1accuueckue) - 9,5 T.p. * 5 map = 47,5 1.p.
TaJIKK JbDKHBIE (KiIaccuueckue) — 41.p. * 8 map = 32 T.p.
KpeIUIeHUs JIbDKHBIC TOHOYHBIC (Kiaccudeckue) — 2,2 T.p. * Smap = 11 1.p.
cMmaska JbbkHas = 40 1.p.

KOCTIOM CIIOPTUBHBINA Pa3MUHOYHBINA — 7 T.p. * 5 map = 35 T.p.
KOMOMHE30H JIbDKHBIA TOHOYHBIN — 3 T.p. * 11 map = 33 T.p.
MepYaTKH JbDKHBIC ToHOYHbIE — 1,1 T.p. * 16 map = 17,6 T.p.
IIATIOYKH JIBDKHBIE TOHOYHBIE — 1,1 T.p. * 16 map = 17,6 T.p.
JIeDKepoiepsl — 5,2 T.p. * 8 map = 41,6 T.p.

najgku JebkHbIe — 1 T.p. * 10 map = 10 1.p.

M4 PyTOONBHBIN — 2,5 T.p. * 2 wT. =5 T.p.

Ms14 6ackeT0oNbHBI — 1 T.p. * 2 mT. = 2 T.p.

MsT4 BOJICHOOIbHBIN — 1 T.p. * 2 miT. = 2 T.p.

JIérkas atiieruka
CraproBsie Kook — 5 T.p. * 2 mt. = 10 T.p.
Jlerkoarnetnueckue 6aprepsl — 3 T.p. * 6 wT. = 18 T.p.
baprep TpeHnpoBouHBIN — 2T.p. * 2 KoMIIeKkTa = 4 T.p.
Ha6usnbie msun: 1 kr — 300 p. * 5 mr. = 1,5 T.p.

2 kr—400 p. * 5 wr. =2 T.p.

3 kr— 500 p. * 3 mT. = 1,5 T.p.
[Iunosku — 1,5 1.p. * 10 map = 15 T.p.
Bepépounas nectauna — 600 p * 2 mr = 1,2 T.p.
'umuactuyeckue Matel — 3 T.p. * 3 mt. = 9 T.p.
I'antenu: 0,5 kr —200 p * 10 ur =2 1.p.

1 kr—300p * 10 wt =3 T.p.

Cexynaomepsl — 3 T.p. * 2 mr. = 6 T.p.
berossie kocTroMBI — 1 T.p. * 5 mT. =5 T.p.




